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	Verbal
	Table

	Arthur uses his own tractor while doing various jobs. He is paid a flat fee of $100 for each job. In addition to the flat fee, he is paid $20 for each hour he works with the tractor.  If Mr. Jones said that he has work for Arthur that could last as long as 3 hours, what is the possible amount that Arthur could make? (work in half-hour increments)

Underline or box the important information!
	Hrs Worked

Process

Total Made



	Graph
	Equation

	

	What is an equation that we could use to determine the amount Arthur makes?

What does each part of the equation represent?
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